NOTES:

1.0 GENERAL
1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS
2.0 DESIGN NOTES

3.0 MANUFACTURING/SPECIAL REQUIRMENTS

4.0 TEST

5.0 PACKAGING

ALL CORNER'S

HANDRAIL

ITEM|PART NO. DESCRIPTION QTY.| WEIGHT [NOTE NO.
1 |GB-03105 3/8" X 1" GALV BOLT KIT 36 | 0.05 LBS
2 |GB-03205 3/8" X 2" GALV BOLT KIT 24 10.08 LBS
3 |[MTC3979HR19 ANGLE BRKT, HANDRAIL 12 | 0.32 LBS
4 IMTC403721 POST, HANDRAIL 12 | 9.98 LBS
5 |[MTC40378816 HANDRAIL, HORIZONTAL, 94" 4 116.80 LBS
6 |[MTC4037HR12 HANDRAIL, HORIZONTAL, 23" 4 | 4.10 LBS
7 |[MTC4037HR13 PLATE, HANDRAIL TOEBOARD 2 | 4.04 LBS
8 |[MTC4037HR14 HANDRAIL, HORIZONTAL, 46" 4 |8.22 LBS
9 |[MTC4037HR15 PLATE, HANDRAIL TOEBOARD 2 [16.58 LBS
10 IMTC4037HR16 PLATE, HANDRAIL TOEBOARD 2 |8.11LBS
11 [TS1275 TEK SCREW #12 X 3/4, WITH NEOPRENE WASHER| 48 | 0.02 LBS
12 |GWF-03 3/8" GALV FLAT WASHER 24 10.01 LBS

@ 2018 CommScope, Inc.

]
REVISIONS
REV. ECN DESCRIPTION BY DATE
A 8000030684 INITIAL RELEASE RDLS 07/13/18
B 8000032546 ADDED VIEWS TO HELP ASSEMBLY MRC 11/19/18

COMMSCOPE, INC. OF NORTH CAROLINA

TOLERANCES SAP MATERIAL MASTER
OPLACE X+ .25 2PLACE xx+ 0.06
1PLACE X+ 0.12 ANGLES  + 2° MTC4037H R
FINISH MATERIAL
GALV A123 A1011/A1018, A500
3 NAME DATE TITLE
8 3 MRC 06726718
§§§ gSV seavrsercon o 9X8 PLATFORM HANDRAIL W TOE BOARD
DENSITY |0 lbsfin®| wZz2
sgs RV
MASS | 1415 Ibs i = ,E:J AD |VCTTO7 T172012078
VOLUME in? 23% [ [RDT048 72172016~ SCALE | DOCUMENT NO.
D& 5 .
SURFACE AREA in* | 38%  [EcN 008000032546 1:12 MTC4037HR
HEIGHT SIZE  |WORKAREA 24 MODEL DRAWING SHEET
LENGTH C 6 VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
WIDTH 01 AR A 01 AR B 10F5
2 |

A



NOTES:

DETAILE
SCALE 1:4

CLIP EXPOSED
TEC SCREW ENDS
AS NECESSARY

DETAIL D
SCALE1:4

OPTIONAL STAIR

REMOVE FOR
LOCATION

T}

N
£
N
S
STN

<0
DN
SN“_W
SN
athah
Q0zZzo
Zo<g
< T
CVWP
Z0WwoO
b2k 2
SXrno

i
<C
-
n
-l
<
Z
o
—
o
@)

Z
o
—
<
®)
@)
-l

REMOVE FOR

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

A

8x8 PLATFORM HANDRAIL W TOE BOARD

MTC4037HR

DRAWING

DOCUMENT NO.

SHEET
20F5

REVISION

STATUS

AR

VERSION

01

1:10

SIZE
C

SCREWS PER POST

36" FLIP STEP SHOWN
FOR REFERENCE ONLY

WHEN CANOPY IS USED
REMOVE POST AND TECH

CANOPY POST. TWO TS1275

SCREW HANDRAIL INTO 4"
SCREWS PER POST

@ 2018 CommScope, Inc. @ 6



NOTES

- A\ v \NCICAY \

i/ 7 AR
VAR
WA

/,,...///
..,/,/W///,//Nz//fﬁ
...,..///m/// //A/, A N 2 T4

A

A

ANV )\ W W

A

SHEET
30F5

REVISION

MTC4037HR
AR

DRAWING
STATUS

DOCUMENT NO.
01

VERSION

12

SCALE

COMMSCOPE, INC. OF NORTH CAROLINA

8x8 PLATFORM HANDRAIL W TOE BOARD

TITLE
SIZE

@ 2018 CommScope, Inc.

SECTION F-F
SCALE 1:4

L R
AN o
AN ol
- D7 AR NN 4 2
N ZAZ a%2
R D0O
/NN AN 47 -
AN A Wo>
VAN 4
\ \ ////% %///////////,o nb
WVQ ,,,////,, —LL
AN o
N a9%
W 7/ X = Z
——\ 4o
| ——
\\
/
.0 ) 3 IR “
T i oo _
e s
&9
=
) )
D y
)
&2
3 : LU
o @ |_
: T
i ]
— _ H
)
o P
> &0
© O3
S5
N >
<5
o
O > ANH
= O




NOTES:

TYPICAL ALL
HANDRAIL
POSTS

DETAIL G
SCALE1:5

/ (O] (O] [O] (O] V\
o o o o
\ ] ] =] ]
(0] o} o} (0] . .
e [F—— e | aam——— IF
o é o o é @ﬂ o) o] o [OjH‘B 6 o & o}
o} 10| C] C] 1O ] o) o o CJ ¢} | O | C] 10| o
g p
< N o N < < N <
(@) o ~— N~ ~ N~ Lo o0
— o O O Lo Lo o o
o AN Lo M~ © O AN <
1 [ 1 — ~— N N
() o0 () [ [ 1 1
o (e @) o o o o o
co) N ~ < < < <
AN QP LO o O ©
(O] M~ O (@)
[O]

) =}
Kl o
=) E e
o] o o o& é E o o o o o o & o o)
o o o
o] e [} [} _o_ / e e o o ] -} _o_ =} o
Ip
1 1 1
< < <
(@) ~ N
— [o'e) L
() Lo o0
1 —
o0 [
(e @) o
N .
AN o
N~

96.002438.4]

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

8x8 PLATFORM HANDRAIL W TOE BOARD

@ 2018 CommScope, Inc.

SIZE SCALE DOCUMENT NO.
C | 1110 MTC4037HR
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
01 AR B 40F 5




4 3 2 ]

NOTES:

1.0 HAND RAIL & STEP
CAN BE MOUNTED
TO EITHER SIDE

/] T/ T./ AN
D
= . .
: é%iiIEiiiiiEEEEﬁiE?iEEiiiﬁﬁiiiﬁiiiiiiiiﬁiiﬁﬁié :
o ~ =) )
(@) ~ N~ O
=) B S < .
o S N,
N = =
o 2 8
—~——34.0/863.6] —= ~——34.0/863.6] —=
LEFT SIDE
O] [ | T AN
O \\\ /// <:>
° ° [ 1 ° ° /
4 B

34.0/863.6]
OPTIONAL
—  STEP LOCATION
W/SECTIONAL

is HANDRAIL

Lo

(@))

™~

5

N~

34.0/863.6]
OPTIONAL
—~——= STEP LOCATION
W/SECTIONAL

e | HANDRAIL

. Lo

o Lo

S &

5 3

- =5

RIGHT SIDE

88.94/2259.1]

96.012438.6)

@ 2018 CommScope, Inc.

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

8x8 PLATFORM HANDRAIL W TOE BOARD

SIZE SCALE DOCUMENT NO.
C| 1:114 MTC4037HR
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
01 AR B 50F5

]




	MTC4037HR AD
	Drawing View1
	Detail View A (1 : 4)
	Detail View B (1 : 4)

	Sheet2
	Drawing View4
	Detail View D (1 : 4)
	Detail View E (1 : 4)

	Sheet3
	Drawing View12
	Drawing View13
	Section View F-F

	Sheet4
	Drawing View8
	Drawing View9
	Detail View G (1 : 5)

	Sheet5
	Drawing View10
	Drawing View11


